
1) Find the mean of the following set of data:

0.9, 96

Answer: ____________

2) 9584 - 9524

Answer: ____________

3) Share 67 in the ratio 7:60

Answer: ____________

4) $435.00 earning 8% compound 
interest for 5 years.

Answer: ____________

5) Find area of triangle
h = 1754 m, a = 
8352 m,
b = 9293 m, c = 
9994 m

Answer: ____________

6) Decrease 28 by 1/4

Answer: ____________

7) Factorise 8d2 + 54d + 13

Answer: ____________

8) Find perimeter of 
square having each side 
(s) equals 7525 m

Answer: ____________

9) 71000 ÷ 1000

Answer: ____________

10) (-5569) + 4471

Answer: ____________

11) (-5569) + 4471

Answer: ____________

12) (-6655) + 4738

Answer: ____________

13) (8-17)-20

Answer: ____________

14) Convert the following improper 
fraction 2115/20 + 3413/17 into a 
mixed number

Answer: ____________

15) Convert the following improper 
fraction 2115/20 + 3413/17 into a 
mixed number

Answer: ____________
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16) Find the range of the following set of data:

0.5, 6, -16, -1

Answer: ____________

17) Factorise 6x2 + 15x + 9

Answer: ____________

18) 23.8 x 37.2

Answer: ____________

19)
40  Find Volume of Cone 

30

Answer: ____________

20) (4 x 82) x (5 x 14)

Answer: ____________

21) 'What is the probability of rolling a 
even prime number.when rolling a 
dice

Answer: ____________

22) 3   1/7 - 39   1/7

Answer: ____________

23) Find perimeter of 
square having each 
side (s) equals 1644 ft

Answer: ____________

24) Find perimeter of 
square having each 
side (s) equals 1644 ft

Answer: ____________

25) An amount was decreased by 10.2% 
to $210.00. Find the original amount.

Answer: ____________

26) An amount was increased by 5% to 
$181.00. Find the original amount.

Answer: ____________

27) 'What is the probability of rolling a 
even prime number.when rolling a 
dice

Answer: ____________

28) (16 - 11) x (13 ÷ 15)

Answer: ____________

29) 33/4 x 3/9

Answer: ____________

30) Decrease 82 by 1/41

Answer: ____________
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31) (-5203) + 9282

Answer: ____________

32) (10 x 34) x (5 x 9-1)

Answer: ____________

33) 2610/18 x 165/14

Answer: ____________

34) Convert the following mixed number 
313/18 into an improper fraction.

Answer: ____________

35) Round 19.689798017709 to 11 
significant figures.

Answer: ____________

36)

'Name the type of angle.

Answer: ____________

37) 2929 x 1664

Answer: ____________

38) $191.00 earning 10% compound 
interest for 1 years.

Answer: ____________

39) Factorise 7q2 + 20q + 13

Answer: ____________

40) 30   1/2 - 3   9/10

Answer: ____________

41) (8 x 21) + (3 x 37)

Answer: ____________

42) An amount was increased by 4% to 
$28.00. Find the original amount.

Answer: ____________

43) An amount was increased by 4% to 
$28.00. Find the original amount.

Answer: ____________

44) Find area of 
rectangle having 
sides a = 9524 m 
and b = 1612 m

Answer: ____________

45) 42499.1 ÷ 763

Answer: ____________
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46) $454.88 earning 4.4% compound 
interest for 9 years.

Answer: ____________

47) $454.88 earning 4.4% compound 
interest for 9 years.

Answer: ____________

48) $454.88 earning 4.4% compound 
interest for 9 years.

Answer: ____________

49) 3948 ÷ 47

Answer: ____________

50) 'What is the probability of rolling 
factors of 18.when rolling a dice

Answer: ____________

51) Round 7.349990 to the nearest whole 
number.

Answer: ____________

52) 17 x 24.5

Answer: ____________

53) 25/1 x 21/19

Answer: ____________

54) 39   9/14 - 22   13/17

Answer: ____________

55) 39   9/14 - 22   13/17

Answer: ____________

56) Convert the following fraction into a 
mixed number: 80/29

Answer: ____________

57) Find area of square 
having each side (s)
equals 1656 m

Answer: ____________

58) Increase 248 by 5/124

Answer: ____________

59) Increase 248 by 5/124

Answer: ____________

60) 9787 - 7820

Answer: ____________
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61)

'Name the type of angle.

Answer: ____________

62) 323/17 x 112/12

Answer: ____________

63) 75 x 10

Answer: ____________

64)
37  Find Volume of 
               32       Cylinder 

Answer: ____________

65) (10 x 19) x (2 x 97)

Answer: ____________

66) 502.8 - 5546.1

Answer: ____________

67) Find area of 
rectangle having 
sides a = 9703 cm 
and b = 9551 cm

Answer: ____________

68) 9602 - 7726

Answer: ____________

69) 2/95 of 285

Answer: ____________

70) Decrease 330 by 19%

Answer: ____________

71) A number was shared in the ratio 
10:40. The smaller share was 81. 
What was the total amount shared?

Answer: ____________

72) Round 14.67626952670184 to 12 
decimal places.

Answer: ____________

73) 7648 - (-6136)

Answer: ____________

74) 6/17 of 51

Answer: ____________

75) Find area of 
rectangle having 
sides a = 9989 cm 
and b = 9079 cm

Answer: ____________
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76) 12/
9 ÷ 1/13

Answer: ____________

77) 4403 x 9639

Answer: ____________

78) 3454 - 2860.9

Answer: ____________

79) 45 x 1000

Answer: ____________

80)
38  Find Volume of 
               32       Cylinder 

Answer: ____________

81) Find perimeter of 
triangle
a = 2921 m, b = 
9733 m,
c = 9768m

Answer: ____________

82) Find perimeter of 
triangle s = 1531 ft

Answer: ____________

83) Find the percentage change from 280 
to 210

Answer: ____________

84) (-7149) + (-6748)

Answer: ____________

85) 'What is the probability of rolling a 
multiple of 1.when rolling a dice

Answer: ____________

86)
16

1 /4

Answer: ____________

87) Simplify 73:83

Answer: ____________

88) Simplify 73:83

Answer: ____________

89) Increase 292 by 1/146

Answer: ____________

90) Find the value of 'j' by completing the 
square of the following equation: 2 + 
6j + 9

Answer: ____________
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91) Simplify 89:52

Answer: ____________

92) 22/7 + 35/9

Answer: ____________

93) An amount was increased by 4% to 
$179.12. Find the original amount.

Answer: ____________

94) 36   13/15 - 37   4/11

Answer: ____________

95) 13 x (-44)

Answer: ____________

96) 209/11 ÷ 815/16

Answer: ____________

97) 662 + 5653.7

Answer: ____________

98)

A B = 39
Find the Angle at side A.

Answer: ____________

99)
39  Find Volume of 
               38       Cylinder 

Answer: ____________

100) Round 26.4722 to 3 significant 
figures.

Answer: ____________

Total: ___ / 100
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Answers:

1) 48.45 2) 60 3) 1 : 66 4) $639.16 5) 8149961m 6) 21 7) (2d + 13)(d + 1)

8) 30100m 9) 71 10) -1098 11) -1098 12) -1917 13) 8340 14) 5635/68

15) 5635/68 16) 22 17) (6x + 9)(x + 3) 18) 885.36 19) 9424.7779607694 20) 1280 21) 1/6

22) 72 23) 6576ft 24) 6576ft 25) $188.58 26) $172.38 27) 1/6 28)

29) 23/4 30) 80 31) 4079 32) 450 33) 43447/126 34) 187/6 35) 19.689798018

36) Right 37) 4873856 38) $210.10 39) (7q + 13)(q + 1) 40) 263/5 41) 6577 42) $26.92

43) $26.92 44) 15352688m 45) 55.7 46) $670.20 47) $670.20 48) $670.20 49) 84

50) 2/3 51) 7 52) 416.5 53) 2712/19 54) 16209/238 55) 16209/238 56) 222/29

57) 2742336m 58) 258 59) 258 60) 1967 61) Obtuse 62) 35931/102 63) 750

64) 119028.66245921 65) 95659380 66) -5043.3 67) 92673353cm 68) 1876 69) 6 70) 267.3

71) 405 72) 14.676269526702 73) 13784 74) 18 75) 90690131cm 76) 171/3 77) 42440517

78) 593.1 79) 45000 80) 30561.413334122 81) 22422m 82) 4593ft 83) -25% 84) -13897

85) 1/1 86) 2 87) 73 : 83 88) 73 : 83 89) 294 90) (j + 3)2 91) 89 : 52

92) 72/63 93) $172.23 94) 182/165 95) 96) 2518/1573 97) 6315.7 98) 141

99) 176921.93187956 100) 26.5

Copyright 2022 - Geek School Tutoring Limited http://www.geekschool.co.uk

Name: _____________________________

April 04, 2022

Sr: 04042022-2601

 

http://www.geekschool.co.uk

